Add	Adding, Subtracting, Multiplying and Dividing Integers (A)			
Name:	Date:		Score:	
	Calculate each sum, diffe	rence, product	or quotient.	
-16 + -6	=	-5 - 25	=	
-21 + 13	=	-6 + -20	) =	
$-4 \times 23$	=	$154 \div -12$	l =	
576 ÷ 24	=	$250 \div -25$	5 =	
$57 \div -19$	) =	-14 + 7	=	
923		575 ÷ 23	=	
$-175 \div -7$	=	209 ÷ 19	=	
-15 + -24	· =	12 + -19	9 =	
$18 \times -10$	) =	$24 \times 8$	=	
4 + 16	=	23 + -3	=	
-1817	'=	$10 \times -23$	3 =	
$252 \div 14$	=	19 + -4	=	
$-264 \div 12$	=	$17 \times -16$	5 =	
$-480 \div 24$	=	$-144 \div 8$	=	
$15 \times 23$	=	-25 + 19	=	
$-330 \div 15$	=	-3 + -15	5 =	
-256	=	-2217	7 =	
$-7 \times -23$	=	-234	=	
1513	=	$2 \times 25$	=	
$-50 \div 2$	=	-23 + 19	=	
20 + -6	=	$-20 \times 20$	=	
21 + -3	=	-420	) =	
$21 \times -12$	:=	$100 \div 5$	=	
$21 \div 1$	=	-8 + 18	=	
25 + 13	=	$21 \times 16$	=	

Name:       Date:       Score:         Calculate each sum, difference, product or quotient. $-16 + -6 = -22$ $-5 - 25 = -30$ $-21 + 13 = -8$ $-6 + -20 = -26$ $-4 \times 23 = -92$ $154 \div -11 = -14$ $576 \div 24 = 24$ $250 \div -25 = -10$ $57 \div -19 = -3$ $-14 + 7 = -7$ $923 = 32$ $575 \div 23 = 25$ $-175 \div -7 = 25$ $209 \div 19 = 11$ $-15 + -24 = -39$ $12 + -19 = -7$ $18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$ $-264 \div 12 = -22$ $17 \times -16 = -272$
$\begin{array}{rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr$
$-21 + 13 = -8$ $-6 + -20 = -26$ $-4 \times 23 = -92$ $154 \div -11 = -14$ $576 \div 24 = 24$ $250 \div -25 = -10$ $57 \div -19 = -3$ $-14 + 7 = -7$ $923 = 32$ $575 \div 23 = 25$ $-175 \div -7 = 25$ $209 \div 19 = 11$ $-15 + -24 = -39$ $12 + -19 = -7$ $18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$-4 \times 23 = -92$ $154 \div -11 = -14$ $576 \div 24 = 24$ $250 \div -25 = -10$ $57 \div -19 = -3$ $-14 + 7 = -7$ $923 = 32$ $575 \div 23 = 25$ $-175 \div -7 = 25$ $209 \div 19 = 11$ $-15 + -24 = -39$ $12 + -19 = -7$ $18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$576 \div 24 = 24$ $250 \div -25 = -10$ $57 \div -19 = -3$ $-14 + 7 = -7$ $923 = 32$ $575 \div 23 = 25$ $-175 \div -7 = 25$ $209 \div 19 = 11$ $-15 + -24 = -39$ $12 + -19 = -7$ $18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$57 \div -19 = -3$ $-14 + 7 = -7$ $923 = 32$ $575 \div 23 = 25$ $-175 \div -7 = 25$ $209 \div 19 = 11$ $-15 + -24 = -39$ $12 + -19 = -7$ $18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$923 = 32$ $575 \div 23 = 25$ $-175 \div -7 = 25$ $209 \div 19 = 11$ $-15 + -24 = -39$ $12 + -19 = -7$ $18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$-175 \div -7 = 25$ $209 \div 19 = 11$ $-15 + -24 = -39$ $12 + -19 = -7$ $18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$-15 + -24 = -39$ $12 + -19 = -7$ $18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$18 \times -10 = -180$ $24 \times 8 = 192$ $4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$4 + 16 = 20$ $23 + -3 = 20$ $-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$-1817 = -1$ $10 \times -23 = -230$ $252 \div 14 = 18$ $19 + -4 = 15$
$252 \div 14 = 18$ $19 + -4 = 15$
$-264 \div 12 = -22$ $17 \times -16 = -272$
$-480 \div 24 = -20 \qquad -144 \div 8 = -18$
$15 \times 23 = 345$ $-25 + 19 = -6$
$-330 \div 15 = -22 \qquad -3 + -15 = -18$
$-256 = -19 \qquad -2217 = -5$
$-7 \times -23 = 161 \qquad -234 = -19$
$1513 = 28$ $2 \times 25 = 50$
$-50 \div 2 = -25$ $-23 + 19 = -4$
$20 + -6 = 14 \qquad -20 \times 20 = -400$
$21 + -3 = 18 \qquad -420 = 16$
$21 \times -12 = -252$ $100 \div 5 = 20$
$21 \div 1 = 21 \qquad -8 + 18 = 10$
$25 + 13 = 38$ $21 \times 16 = 336$

Addin	Adding, Subtracting, Multiplying and Dividing Integers (B)					
Name:	Date:	Score:				
	Calculate each sum, difference, product or quotient.					
$-22 \times -6 =$	-23 - 25	=				
-236 =	$-14 \times 18$	=				
$552 \div -23 =$	-21 + 21	=				
-19 + 15 =	$-400 \div 20$	=				
-19 + -12 =	$176 \div -22$	2 =				
$200 \div -8 =$	24 + -4	=				
-2222 =	$-221 \div 13$	=				
$375 \div -15 =$	$-10 \times 25$	=				
-24 + 17 =	-8 + 16	=				
16 - 4 =	-15 - 2	=				
7 + -23 =	$126 \div 9$	=				
$147 \div 7 =$	11 × 19	=				
10 - 24 =	15 + -4	=				
-224 =	$10 \times 21$	=				
2 - 21 =	$168 \div -24$					
$-15 \times 3 =$	18 – 25	=				
$8 \times -19 =$	-255	=				
$-2 \times 15 =$	20 + 10	=				
$14 \times 20 =$	$18 \times 4$	=				
$20 \times -25 =$	$-378 \div 18$	=				
$275 \div -25 =$	$9 \times -24$					
$264 \div 22 =$	-9 + -14					
16 - 18 =	$528 \div -24$					
$-2 \times 22 =$	$240 \div 10$					
2419 =	-10 + -20	) =				

Adding, Su	Adding, Subtracting, Multiplying and Dividing Integers (B) Answers				
Name:	Date:	Score:			
	Calculate each sum, diffe	erence, product or quotient.			
$-22 \times -6 =$	132	-23 - 25 = -48			
-236 =	-17	$-14 \times 18 = -252$			
$552 \div -23 =$	-24	-21 + 21 = 0			
-19 + 15 =	-4	$-400 \div 20 = -20$			
-19 + -12 =	-31	$176 \div -22 = -8$			
$200 \div -8 =$	-25	24 + -4 = 20			
-2222 =	0	$-221 \div 13 = -17$			
$375 \div -15 =$	-25	$-10 \times 25 = -250$			
-24 + 17 =	-7	-8 + 16 = 8			
16 - 4 =	12	-15 - 2 = -17			
7 + -23 =	-16	$126 \div 9 = 14$			
$147 \div 7 =$	21	$11 \times 19 = 209$			
10 - 24 =	-14	15 + -4 = 11			
-224 =	-18	$10 \times 21 = 210$			
2 - 21 =		$168 \div -24 = -7$			
$-15 \times 3 =$		18 - 25 = -7			
$8 \times -19 =$	-	-25 - 5 = -20			
$-2 \times 15 =$		20 + 10 = 30			
$14 \times 20 =$		$18 \times 4 = 72$			
$20 \times -25 =$		$-378 \div 18 = -21$			
$275 \div -25 =$		$9 \times -24 = -216$			
$264 \div 22 =$		-9 + -14 = -23			
16 - 18 =		$528 \div -24 = -22$			
$-2 \times 22 =$		$240 \div 10 = 24$			
2419 =	43	-10 + -20 = -30			

Adding, Subtractin	ng, Multiplying and D	ividing Integers (C)
Name:	Date:	Score:
Calculate eac	ch sum, difference, produ	ict or quotient.
17 + 21 =	$-64 \div -4$	. =
23 - 14 =	$-42 \div -2$	21 =
$25 \times -17 =$	181	2 =
$-7 \times -23 =$	-6 + -1	4 =
1121 =	20 - 25	=
$-114 \div -19 =$	380 ÷ 20	=
$-600 \div 24 =$	$-13 \times -1$	8 =
6 + 25 =	$-24 \times 1$	=
$-54 \div 18 =$	-15 + 18	=
1917 =	51	9 =
15 - 20 =	19 + -1	2 =
$-17 \div -1 =$	$8 \times 24$	
$34 \div -2 =$	14 — —4	. =
$220 \div -20 =$	$-17 \times 11$	=
204 =	$154 \div 14$	
13 + -14 =	$22 \times 14$	
$72 \div 3 =$	-16 - 13	
$-200 \div 20 =$	$-2 \times 23$	
-1 - 15 =	$22 \times -2$	
1719 =	$-12 \times -2$	-
20 - 3 =	-141	
$304 \div 16 =$	19 × 4	
$-475 \div 19 =$	$-18 \times 22$	
$-22 \times -5 =$	$160 \div -8$	
-2210 =	-22 + 16	=

Adding, Subtracting, Multiplying and Dividing Integers (C) Answers			
Name:	Date:	Score:	
C	Calculate each sum, diffe	erence, product or quotient.	
17 + 21 =	38	$-64 \div -4 = 16$	
23 - 14 =	9	$-42 \div -21 = 2$	
$25 \times -17 = -$	-425	1812 = 30	
$-7 \times -23 =$	161	-6 + -14 = -20	
1121 =	32	20 - 25 = -5	
$-114 \div -19 =$	6	$380 \div 20 = 19$	
$-600 \div 24 =$	-25	$-13 \times -18 = 234$	
6 + 25 =	31	$-24 \times 1  =  -24$	
$-54 \div 18 =$	-3	-15 + 18 = 3	
1917 =	36	519 = 24	
15 - 20 =	-5	19 + -12 = 7	
$-17 \div -1 =$	17	$8 \times 24 = 192$	
$34 \div -2 =$	-17	144 = 18	
$220 \div -20 =$	-11	$-17 \times 11 = -187$	
204 =	24	$154 \div 14 = 11$	
13 + -14 =	-1	$22 \times 14 = 308$	
$72 \div 3 =$	24	-16 - 13 = -29	
$-200 \div 20 =$	-10	$-2 \times 23 = -46$	
-1 - 15 =	-16	$22 \times -21 = -462$	
1719 =	36	$-12 \times -23 = 276$	
20 - 3 =	17	-1412 = -2	
$304 \div 16 =$	19	$19 \times 4 = 76$	
$-475 \div 19 =$	-25	$-18 \times 22 = -396$	
$-22 \times -5 =$	110	$160 \div -8 = -20$	
-2210 =	-12	-22 + 16 = -6	

Adding, Subtra	acting, Multiplying and Dividing	Integers (D)
Name:	Date:	Score:
Calculate	e each sum, difference, product or que	otient.
$-220 \div 10 =$	$154 \div -11 =$	
22 + 7 =	$-66 \div 3 =$	
-13 + -18 =	$21 \div 1 =$	
-20 - 22 =	$-180 \div -12 =$	
$-529 \div -23 =$	$-200 \div 25 =$	
16 + 25 =	$16 \times -12 =$	
$-1 \times -18 =$	$69 \div -3 =$	
$19 \times 2 =$	$-16 \times -23 =$	
$483 \div -21 =$	$-575 \div 23 =$	
$-14 \times -12 =$	18 + 3 =	
6 + 15 =	-2 + 14 =	
$25 \times -10 =$	$-112 \div 16 =$	
$-102 \div 17 =$	-1923 =	
10 + 21 =	-18 + -23 =	
$342 \div 18 =$	$21 \times -18 =$	
-14 + -14 =	-16 - 13 =	
2017 =	-21 + -17 =	
714 =	$273 \div -21 =$	
$-25 \times 3 =$	-8 + 23 =	
$330 \div -15 =$	$300 \div 15 =$	
$23 \times 9 =$	1614 =	
9 + 21 =	$-46 \div -23 =$	
21 + 10 =	$-25 \times 6 =$	
$23 \times -22 =$	5 + -14 =	
-16 + -24 =	$140 \div 14 =$	

Adding, Sub	tracting, Multiplying	and Dividing Integers (D) Answers
Name:	Date:	Score:
C	Calculate each sum, diffe	erence, product or quotient.
$-220 \div 10 =$	-22	$154 \div -11 = -14$
22 + 7 =	29	$-66 \div 3 = -22$
-13 + -18 =	-31	$21 \div 1 = 21$
-20 - 22 =	-42	$-180 \div -12 = 15$
$-529 \div -23 =$	23	$-200 \div 25 = -8$
16 + 25 =	41	$16 \times -12 = -192$
$-1 \times -18 =$	18	$69 \div -3 = -23$
$19 \times 2 =$	38	$-16 \times -23 = 368$
$483 \div -21 =$	-23	$-575 \div 23 = -25$
$-14 \times -12 =$	168	18 + 3 = 21
6 + 15 =	21	-2 + 14 = 12
$25 \times -10 = -$	-250	$-112 \div 16 = -7$
$-102 \div 17 =$	-6	-1923 = 4
10 + 21 =	31	-18 + -23 = -41
$342 \div 18 =$		$21 \times -18 = -378$
-14 + -14 =		-16 - 13 = -29
2017 =		-21 + -17 = -38
714 =		$273 \div -21 = -13$
$-25 \times 3 =$		-8 + 23 = 15
$330 \div -15 =$		$300 \div 15 = 20$
$23 \times 9 =$		1614 = 30
9 + 21 =		$-46 \div -23 = 2$
21 + 10 =		$-25 \times 6 = -150$
$23 \times -22 = -$		5 + -14 = -9
-16 + -24 =	-40	$140 \div 14 = 10$

Add	Adding, Subtracting, Multiplying and Dividing Integers (E)					
Name:	Date:	Score:				
	Calculate each sum, difference, product or quotient.					
22 - 25	$=$ $-4 \times 23$	3 =				
-11 + -21	= -9	14 =				
-14 + 15	= -19 × 13	3 =				
16 + -11	$= -96 \div 6$	=				
$345 \div -23$	= 22 × -	17 =				
$-228 \div 12$	= -16 - 16	<b>5</b> =				
$21 \times -20$	$=$ $-3 \times 19$	) =				
$-14 \times -11$	$= 100 \div 20$	) =				
$7 \times -18$	= 19 × 18	3 =				
-17 - 22	= -275 ÷ 11	. =				
-233	$= -22 \div 1$	=				
$-19 \times 2$	$= 1 \times 20$	) =				
$16 \times 21$	= 15+-	10 =				
$-192 \div 12$	$=$ $-1 \times 23$	3 =				
13 + -20	= 17 ×	4 =				
$120 \div -20$						
$-19 \div 1$						
$-21 \times 5$						
$-20 \times -9$						
$-24 \times 15$						
196						
$273 \div -21$						
$-19 \div -19$						
-222						
$4 \times 20$	= 14 - 13	3 =				

Adding, Subt	Adding, Subtracting, Multiplying and Dividing Integers (E) Answers				
Name:	Date:	Score:			
Ca	alculate each sum, diffe	rence, product or quotient.			
22 - 25 =	-3	$-4 \times 23 = -92$			
-11 + -21 = -	-32	-914 = 5			
-14 + 15 =	1	$-19 \times 13 = -247$			
16 + -11 =	5	$-96 \div 6  =  -16$			
$345 \div -23 = -$	-15	$22 \times -17 = -374$			
$-228 \div 12 = -228 \div 12$	-19	-16 - 16 = -32			
$21 \times -20 = -$	-420	$-3 \times 19 = -57$			
$-14 \times -11 =$	154	$100 \div 20 = 5$			
$7 \times -18 = -$	-126	$19 \times 18 = 342$			
-17 - 22 = -17	-39	$-275 \div 11 = -25$			
-233 = -3	-20	$-22 \div 1  =  -22$			
$-19 \times 2 = -19 \times 2$	-38	$1 \times 20 = 20$			
$16 \times 21 =$	336	15 + -10 = 5			
$-192 \div 12 = -192 \div 12$	-16	$-1 \times 23 = -23$			
13 + -20 =	-7	$17 \times -4 = -68$			
$120 \div -20 =$	-6	$3 \times 22 = 66$			
$-19 \div 1 = -19$	-19	$-22 \times 11 = -242$			
$-21 \times 5 = -$	-105	$-484 \div 22 = -22$			
$-20 \times -9 =$	180	$-25 \times 2  =  -50$			
$-24 \times 15 = -$	-360	$-15 \times -13 = 195$			
196 =	25	$288 \div 16 = 18$			
$273 \div -21 = -$	-13	-2419 = -5			
$-19 \div -19 =$	1	-16 + 13 = -3			
-222 =	20	-14 + 20 = 6			
$4 \times 20 =$	80	14 - 13 = 1			

Addi	Adding, Subtracting, Multiplying and Dividing Integers (F)					
Name:	Date:	Score:				
Calculate each sum, difference, product or quotient.						
$34 \div 17$	= 8 × -16 =	=				
-21 - 20	= 1424 =	=				
2117	= -23 + -1 =	=				
$-36 \div 2$	= -374 ÷ 22 =	=				
$16 \times -1$	= -12 - 17 =	=				
$16 \times 20$	= -7 - 21 =	=				
-15 - 6	$= -6 \times -20 =$	=				
$21 \times -12$	= -180 ÷ 12 =	=				
8 + -23	= 4 + -22 =	=				
-2514	= 2 × 21 =	=				
-201	= -222 =	=				
$-162 \div -18$	= -11 × -25 =	=				
22 - 25	= 19 × -1 =	=				
$10 \times 18$	= -23 - 3 =	=				
2414	= 915=	=				
20 + 9	= -195 ÷ -13 =	=				
-5 + 19	= 25 - 17 =	=				
$25 \times 22$	= 238 ÷ -17 =	=				
$14 \times 23$	= -18 × 14 =	=				
$17 \div 17$	= -15 + 20 =	=				
$-168 \div 21$	= -16 × 7 =	=				
-25 + -18	= -2 - 22 =	=				
$240 \div -20$	= 210 ÷ -21 =	=				
17 + -15	= -182 ÷ 13 =	=				
-1410	= 25 - 24 =	=				

Adding, Sub	Adding, Subtracting, Multiplying and Dividing Integers (F) Answers				
Name:	Date	2:	Score:		
(	Calculate each sum, di	fference, product or quotie	ent.		
$34 \div 17 =$	2	$8 \times -16 = -128$	8		
-21 - 20 =	-1	1424 = 38	8		
2117 =	38	-23 + -1 = -24	4		
$-36 \div 2 =$	-18	$-374 \div 22 = -17$	7		
$16 \times -1 =$	-16	-12 - 17 = -29	9		
$16 \times 20 =$	320	-7 - 21 = -28	8		
-15 - 6 =	-21	$-6 \times -20 = 120$	0		
$21 \times -12 = 2$	-252	$-180 \div 12 = -12$	5		
8 + -23 =	-15	4 + -22 = -18	8		
-2514 =	-11	$2 \times 21 = 42$	2		
-201 =	-19	-222 = -20	0		
$-162 \div -18 =$	9	$-11 \times -25 = 275$	5		
22 - 25 =	-3	$19 \times -1 = -19$	9		
$10 \times 18 =$		-23 - 3 = -26	б		
2414 =		915 = 24	-		
20 + 9 =		$-195 \div -13 = 13$			
-5 + 19 =		25 - 17 = 8			
$25 \times 22 =$		$238 \div -17 = -14$			
$14 \times 23 =$		$-18 \times 14 = -252$			
$17 \div 17 =$		-15 + 20 = 3			
$-168 \div 21 =$		$-16 \times 7 = -112$			
-25 + -18 =		-2 - 22 = -24			
$240 \div -20 =$		$210 \div -21 = -10$			
17 + -15 =		$-182 \div 13 = -14$			
-1410 =	-4	25 - 24 = 1	1		

Addi	Adding, Subtracting, Multiplying and Dividing Integers (G)			
Name:	Date:	Score:		
	Calculate each sum, difference, pro	oduct or quotient.		
$24 \times -18$	= 23 ×	-1 =		
921	= 17 -	25 =		
$22 \times 18$	= 2 ×	-17 =		
$-342 \div 19$	= 18 +	3 =		
16 × 9	= 45 ÷	15 =		
-16 - 16	= -273 ÷	13 =		
$-75 \div -5$	= -140 ÷	-14 =		
$-24 \times 14$	= -9 +	16 =		
22 + -20	$= -176 \div$	22 =		
$22 \times -19$	= -24 +	-8 =		
$-272 \div -16$		-25 =		
14 - 15	= 5-	20 =		
$320 \div 16$		-18 =		
$-20 \div -20$		-16 =		
$-8 \times 19$		-14 =		
$-66 \div 3$		-16 =		
$-144 \div -6$		11 =		
16 + 3		-19 =		
$13 \times -16$		21 =		
189 ÷ 9		2 =		
15 × 6		22 =		
$-170 \div 10$		20 =		
22 + -15		-3 =		
15 + 2		1 = 22 = 22		
17 + 21	= 1/ x	-23 =		

Name:Date:Score:Calculate each sum, difference, product or quotient. $24 \times -18 = -432$ $23 \times -1 = -23$ $921 = 30$ $17 - 25 = -8$ $22 \times 18 = 396$ $2 \times -17 = -34$ $-342 \div 19 = -18$ $18 + 3 = 21$ $16 \times 9 = 144$ $45 \div 15 = 3$ $-16 - 16 = -32$ $-273 \div 13 = -21$ $-75 \div -5 = 15$ $-140 \div -14 = 10$ $-24 \times 14 = -336$ $-9 + 16 = 7$ $22 \times -20 = 2$ $-176 \div 22 = -8$ $22 \times -19 = -418$ $-24 + -8 = -32$ $-272 \div -16 = 17$ $600 \div -25 = -24$ $14 - 15 = -1$ $5 - 20 = -15$ $320 \div 16 = 20$ $-16 + -18 = -34$ $-20 \div -20 = 1$ $-25 + -16 = -41$ $-8 \times 19 = -152$ $25 + -14 = 11$ $-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$ $17 + 21 = 38$ $17 \times -23 = -391$	Adding, Subtracting, Multiplying and Dividing Integers (G) Answers				
$\begin{array}{rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr$	Name:		Date:	Score:	
$\begin{array}{rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr$		Calculate each sum, difference, product or quotient.			
$22 \times 18 = 396$ $2 \times -17 = -34$ $-342 \div 19 = -18$ $18 + 3 = 21$ $16 \times 9 = 144$ $45 \div 15 = 3$ $-16 - 16 = -32$ $-273 \div 13 = -21$ $-75 \div -5 = 15$ $-140 \div -14 = 10$ $-24 \times 14 = -336$ $-9 + 16 = 7$ $22 + -20 = 2$ $-176 \div 22 = -8$ $22 \times -19 = -418$ $-24 + -8 = -32$ $-272 \div -16 = 17$ $600 \div -25 = -24$ $14 - 15 = -1$ $5 - 20 = -15$ $320 \div 16 = 20$ $-16 + -18 = -34$ $-20 \div -20 = 1$ $-25 + -16 = -41$ $-8 \times 19 = -152$ $25 + -14 = 11$ $-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$	$24 \times -18$	= -432	$23 \times -1 =$	-23	
$\begin{array}{rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr$	921	= 30	17 - 25 =	-8	
$16 \times 9 = 144$ $45 \div 15 = 3$ $-16 - 16 = -32$ $-273 \div 13 = -21$ $-75 \div -5 = 15$ $-140 \div -14 = 10$ $-24 \times 14 = -336$ $-9 + 16 = 7$ $22 + -20 = 2$ $-176 \div 22 = -8$ $22 \times -19 = -418$ $-24 + -8 = -32$ $-272 \div -16 = 17$ $600 \div -25 = -24$ $14 - 15 = -1$ $5 - 20 = -15$ $320 \div 16 = 20$ $-16 + -18 = -34$ $-20 \div -20 = 1$ $-25 + -16 = -41$ $-8 \times 19 = -152$ $25 + -14 = 11$ $-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	$22 \times 18$	= 396	$2 \times -17 =$	-34	
$-16 - 16 = -32$ $-273 \div 13 = -21$ $-75 \div -5 = 15$ $-140 \div -14 = 10$ $-24 \times 14 = -336$ $-9 + 16 = 7$ $22 + -20 = 2$ $-176 \div 22 = -8$ $22 \times -19 = -418$ $-24 + -8 = -32$ $-272 \div -16 = 17$ $600 \div -25 = -24$ $14 - 15 = -1$ $5 - 20 = -15$ $320 \div 16 = 20$ $-16 + -18 = -34$ $-20 \div -20 = 1$ $-25 + -16 = -41$ $-8 \times 19 = -152$ $25 + -14 = 11$ $-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	$-342 \div 19$	= -18	18 + 3 =	21	
$-75 \div -5 = 15$ $-140 \div -14 = 10$ $-24 \times 14 = -336$ $-9 + 16 = 7$ $22 + -20 = 2$ $-176 \div 22 = -8$ $22 \times -19 = -418$ $-24 + -8 = -32$ $-272 \div -16 = 17$ $600 \div -25 = -24$ $14 - 15 = -1$ $5 - 20 = -15$ $320 \div 16 = 20$ $-16 + -18 = -34$ $-20 \div -20 = 1$ $-25 + -16 = -41$ $-8 \times 19 = -152$ $25 + -14 = 11$ $-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-22 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	16 × 9	= 144	$45 \div 15 =$	3	
$-24 \times 14 = -336$ $-9 + 16 = 7$ $22 + -20 = 2$ $-176 \div 22 = -8$ $22 \times -19 = -418$ $-24 + -8 = -32$ $-272 \div -16 = 17$ $600 \div -25 = -24$ $14 - 15 = -1$ $5 - 20 = -15$ $320 \div 16 = 20$ $-16 + -18 = -34$ $-20 \div -20 = 1$ $-25 + -16 = -41$ $-8 \times 19 = -152$ $25 + -14 = 11$ $-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	-16 - 16	= -32	$-273 \div 13 =$	-21	
$22 + -20 = 2   -176 \div 22 = -8   -24 + -8 = -32   -272 \div -16 = 17   600 \div -25 = -24   -41   -15 = -1   5 - 20 = -15   -16 + -18 = -34   -20 \div -20 = 1   -16 + -18 = -34   -20 \div -20 = 1   -25 + -16 = -41   -8 \times 19 = -152   25 + -14 = 11   -66 \div 3 = -22   -32 \div -16 = 2   -32 \div -16 = 2   -144 \div -6 = 24   -25 \times 11 = -275   16 + 3 = 19   11 + -19 = -8   13 \times -16 = -208   -25 - 21 = -46   189 \div 9 = 21   -25 \times 2 = -44   15 \times 6 = 90   23 - 22 = 1   -170 \div 10 = -17   -20 \times 20 = -400   22 + -15 = 7   -19 \times -3 = 57   15 + 2 = 17   20 \div 1 = 20   -176 \div 20 = -176   -176 \div 20 \div 1 = 20   -176 \div 20   -176 \div 100 \div 1$	$-75 \div -5$	= 15	$-140 \div -14 =$	10	
$\begin{array}{rcl} 22 \times -19 = -418 & -24 + -8 & = -32 \\ -272 \div -16 = & 17 & 600 \div -25 = & -24 \\ 14 - 15 & = & -1 & 5 - 20 & = & -15 \\ 320 \div 16 & = & 20 & -16 + -18 = & -34 \\ -20 \div -20 = & 1 & -25 + -16 = & -41 \\ -8 \times 19 & = -152 & 25 + -14 = & 11 \\ -66 \div 3 & = & -22 & -32 \div -16 = & 2 \\ -144 \div -6 & = & 24 & -25 \times 11 & = -275 \\ 16 + 3 & = & 19 & 11 + -19 = & -8 \\ 13 \times -16 = -208 & -25 - 21 & = & -46 \\ 189 \div 9 & = & 21 & -22 \times 2 & = & -44 \\ 15 \times 6 & = & 90 & 23 - 22 & = & 1 \\ -170 \div 10 & = & -17 & -20 \times 20 & = -400 \\ 22 + -15 = & 7 & -19 \times -3 & = & 57 \\ 15 + 2 & = & 17 & 20 \div 1 & = & 20 \end{array}$	$-24 \times 14$	= -336	-9 + 16 =	7	
$\begin{array}{rcrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr$	22 + -20	= 2	$-176 \div 22 =$	-8	
$14-15 = -1 \qquad 5-20 = -15$ $320 \div 16 = 20 \qquad -16 + -18 = -34$ $-20 \div -20 = 1 \qquad -25 + -16 = -41$ $-8 \times 19 = -152 \qquad 25 + -14 = 11$ $-66 \div 3 = -22 \qquad -32 \div -16 = 2$ $-144 \div -6 = 24 \qquad -25 \times 11 = -275$ $16 + 3 = 19 \qquad 11 + -19 = -8$ $13 \times -16 = -208 \qquad -25 - 21 = -46$ $189 \div 9 = 21 \qquad -22 \times 2 = -44$ $15 \times 6 = 90 \qquad 23 - 22 = 1$ $-170 \div 10 = -17 \qquad -20 \times 20 = -400$ $22 + -15 = 7 \qquad -19 \times -3 = 57$ $15 + 2 = 17 \qquad 20 \div 1 = 20$	$22 \times -19$	= -418	-24 + -8 =	-32	
$320 \div 16 = 20 \qquad -16 + -18 = -34  -20 \div -20 = 1 \qquad -25 + -16 = -41  -8 \times 19 = -152 \qquad 25 + -14 = 11  -66 \div 3 = -22 \qquad -32 \div -16 = 2  -144 \div -6 = 24 \qquad -25 \times 11 = -275  16 + 3 = 19 \qquad 11 + -19 = -8  13 \times -16 = -208 \qquad -25 - 21 = -46  189 \div 9 = 21 \qquad -22 \times 2 = -44  15 \times 6 = 90 \qquad 23 - 22 = 1  -170 \div 10 = -17 \qquad -20 \times 20 = -400  22 + -15 = 7 \qquad -19 \times -3 = 57  15 + 2 = 17 \qquad 20 \div 1 = 20$	$-272 \div -16$	= 17	$600 \div -25 =$	-24	
$-20 \div -20 = 1$ $-25 \div -16 = -41$ $-8 \times 19 = -152$ $25 \div -14 = 11$ $-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 \div -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 \div -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	14 - 15	= -1	5 - 20 =	-15	
$-8 \times 19 = -152$ $25 + -14 = 11$ $-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	320 ÷ 16	= 20	-16 + -18 =	-34	
$-66 \div 3 = -22$ $-32 \div -16 = 2$ $-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	$-20 \div -20$	= 1	-25 + -16 =	-41	
$-144 \div -6 = 24$ $-25 \times 11 = -275$ $16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	$-8 \times 19$	= -152	25 + -14 =	11	
$16 + 3 = 19$ $11 + -19 = -8$ $13 \times -16 = -208$ $-25 - 21 = -46$ $189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	$-66 \div 3$	= -22	$-32 \div -16 =$	2	
$13 \times -16 = -208 \qquad -25 - 21 = -46$ $189 \div 9 = 21 \qquad -22 \times 2 = -44$ $15 \times 6 = 90 \qquad 23 - 22 = 1$ $-170 \div 10 = -17 \qquad -20 \times 20 = -400$ $22 + -15 = 7 \qquad -19 \times -3 = 57$ $15 + 2 = 17 \qquad 20 \div 1 = 20$	$-144 \div -6$	= 24	$-25 \times 11 =$	-275	
$189 \div 9 = 21$ $-22 \times 2 = -44$ $15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	16 + 3	= 19	11 + -19 =	-8	
$15 \times 6 = 90$ $23 - 22 = 1$ $-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	$13 \times -16$	= -208	-25 - 21 =	-46	
$-170 \div 10 = -17$ $-20 \times 20 = -400$ $22 + -15 = 7$ $-19 \times -3 = 57$ $15 + 2 = 17$ $20 \div 1 = 20$	189 ÷ 9	= 21	$-22 \times 2 =$	-44	
$22 + -15 = 7 -19 \times -3 = 57$ $15 + 2 = 17 20 \div 1 = 20$	$15 \times 6$	= 90	23 - 22 =	1	
$15 + 2 = 17$ $20 \div 1 = 20$	$-170 \div 10$	= -17	$-20 \times 20 =$	-400	
	22 + -15	= 7	$-19 \times -3 =$	57	
$17 + 21 = 38$ $17 \times -23 = -391$	15 + 2	= 17	$20 \div 1 =$	20	
	17 + 21	= 38	$17 \times -23 =$	-391	

Adding, Subtracting, Multiplying and Dividing Integers (H)			
Name:	Date:	Score:	
Calc	culate each sum, difference, product	or quotient.	
7 + -25 =	$-17 \times -8$	=	
$-200 \div -20 =$	-1421	. =	
-1 + -14 =	$16 \times -24$	· =	
$17 \times 4 =$	-1316	, =	
4-16 =	1817	' <b>=</b>	
$154 \div 11 =$	$16 \times -18$	· =	
-18 + 20 =	$-120 \div 8$	=	
$22 \times -25 =$	-18 - 22	=	
$63 \div 21 =$	$-231 \div 21$	=	
-23 + -22 =	$22 \times 24$		
$-128 \div -8 =$	24 - 16		
$19 \times -25 =$	$-9 \times -22$		
8 + -21 =	-622		
$-23 \times -15 =$	$-260 \div -13$		
$1 \times 23 =$	$-5 \times -23$		
$-22 \times 10 =$	$-20 \times 6$		
-1710 =	2320		
$-340 \div -20 =$	-24 + 20		
$154 \div -14 =$	13 + 14		
23 + -16 =	$-4 \times 22$		
$20 \times 7 =$	256		
$-432 \div -18 =$ $12 \times -20 =$	14 + 12 5 × -22		
	5 x -22 259		
11 - 16 = 15 - 5 - 5 = 15 - 5 - 5 = 15 - 5 - 5 = 15 - 5 - 5 = 15 - 5 - 5 = 15 - 5 - 5 - 5 = 15 - 5 - 5 - 5 - 5 - 5 - 5 - 5 - 5 - 5			
13 5 =	$76 \div 19$	_	

Adding, Subtracting, Multiplying and Dividing Integers (H) Answers				
Name:	Date:	Score:		
C	Calculate each sum, difference, product or quotient.			
7 + -25 =	-18	$-17 \times -8 = 136$		
$-200 \div -20 =$	10	-1421 = 7		
-1 + -14 =	-15	$16 \times -24 = -384$		
$17 \times 4 =$	68	-1316 = 3		
4 - 16 =	-12	1817 = 35		
$154 \div 11 =$	14	$16 \times -18 = -288$		
-18 + 20 =	2	$-120 \div 8 = -15$		
$22 \times -25 = -$	-550	-18 - 22 = -40		
$63 \div 21 =$	3	$-231 \div 21 = -11$		
-23 + -22 =	-45	$22 \times 24 = 528$		
$-128 \div -8 =$	16	24 - 16 = 8		
$19 \times -25 = -$	-475	$-9 \times -22 = 198$		
8 + -21 =	-13	-622 = 16		
$-23 \times -15 =$	345	$-260 \div -13 = 20$		
$1 \times 23 =$	23	$-5 \times -23 = 115$		
$-22 \times 10 = -$	-220	$-20 \times 6 = -120$		
-1710 =	-7	2320 = 43		
$-340 \div -20 =$	17	-24 + 20 = -4		
$154 \div -14 =$	-11	13 + 14 = 27		
23 + -16 =	7	$-4 \times 22 = -88$		
$20 \times 7 =$	140	256 = 31		
$-432 \div -18 =$	24	14 + 12 = 26		
$12 \times -20 = -$	-240	$5 \times -22 = -110$		
11 - 16 =	-5	259 = 34		
155 =	20	$76 \div 19 = 4$		

Adding, Subtracting, Multiplying and Dividing Integers (I)			
Name:	Date:	Score:	
Calcula	te each sum, difference, product	or quotient.	
166 =	-16 + 16	=	
$24 \times -12 =$	-21 + 19	=	
$306 \div 17 =$	-21 - 17	=	
$264 \div 12 =$	2020	) =	
-19 + 21 =	-2323	l =	
$-2 \times -17 =$	1614	4 =	
-195 =	21 – 5	=	
$128 \div -16 =$	$-153 \div 17$	=	
$-140 \div 20 =$	$-625 \div 25$	=	
144 =	23 – 25	=	
5 + -24 =	-174	=	
198 =	23 + 8	=	
$-1 \times -14 =$	-10 + -19	9 =	
$414 \div 18 =$	$-18 \times 22$	=	
$100 \div 5 =$	$-17 \div -1$		
$-204 \div -12 =$	-22 + 6		
14 + -22 =	$234 \div 13$		
$5 \times -18 =$	$24 \times -19$		
16 + -17 =	19 + 1		
$322 \div -14 =$	$-187 \div -17$		
$418 \div 19 =$	-19 + 7		
$-24 \times 11 =$	-1717		
$23 \times 9 =$	$-4 \times -24$		
14 - 5 =	11 × 16		
$450 \div -18 =$	$25 \times -12$	2 =	

Adding, Subtracting, Multiplying and Dividing Integers (I) Answers			
Name:	Date:	Score:	
Calcula	ate each sum, difference, product or q	uotient.	
166 = 22	-16 + 16 =	0	
$24 \times -12 = -288$	-21 + 19 =	-2	
$306 \div 17 = 18$	-21 - 17 =	-38	
$264 \div 12 = 22$	2020 =	40	
-19 + 21 = 2	-2321 =	-2	
$-2 \times -17 = 34$	1614 =	30	
-195 = -14	21 - 5 =	16	
$128 \div -16 = -8$	$-153 \div 17 =$	-9	
$-140 \div 20 = -7$	$-625 \div 25 =$	-25	
144 = 18	23 - 25 =	-2	
5 + -24 = -19	-174 =	-13	
198 = 27	23 + 8 =	31	
$-1 \times -14 = 14$	-10 + -19 =	-29	
$414 \div 18 = 23$	$-18 \times 22 = -$	-396	
$100 \div 5 = 20$	$-17 \div -1 =$	17	
$-204 \div -12 = 17$	-22 + 6 =	-16	
14 + -22 = -8	$234 \div 13 =$	18	
$5 \times -18 = -90$	$24 \times -19 = -$	-456	
16 + -17 = -1	19 + 1 =	20	
$322 \div -14 = -23$	$-187 \div -17 =$	11	
$418 \div 19 = 22$	-19 + 7 =	-12	
$-24 \times 11 = -264$	-1717 =	0	
$23 \times 9 = 207$	$-4 \times -24 =$	96	
14 - 5 = 9	$11 \times 16 =$	176	
$450 \div -18 = -25$	$25 \times -12 = -12$	-300	

Addi	ng, Subtracting, Multiplying and Div	iding Integers (J)
Name:	Date:	Score:
	Calculate each sum, difference, product	or quotient.
-20 + 18	= -194	=
1412	= 24 + 12	=
$-168 \div 7$	= -14 + 7	=
18 – 13	= 2-20	=
10 - 17	$= 500 \div -25$	5 =
$25 \times -20$	= -814	1 =
-248	= 2416	6 <b>=</b>
$-504 \div 24$	= $-115$	5 =
$23 \times 4$	$= -216 \div -9$	=
-25 + -6	= -17 × 12	=
$7 \times -18$	$= 234 \div -18$	3 =
$-18 \times 15$	= 20 + -12	2 =
$21 \times 21$	= -21 + -20	) =
-13 + 20	= -22 - 5	=
-199	= 19 - 16	=
$24 \times -22$	= 209 ÷ 19	=
$-425 \div -25$	$= -24 \times 10$	=
-188	$=$ $8 \times -22$	l =
$-198 \div -22$	= 21 + -16	ő =
$384 \div -24$	$= 192 \div -12$	2 =
$-375 \div -25$	$= 14 \times -9$	=
$-368 \div 16$	$= -24 \times -14$	1 =
18 + 20	$= -480 \div 24$	=
$-25 \div 25$	$= -24 \div -1$	=
20 - 2	= 9 × -22	l =

Adding, Subtracting, Multiplying and Dividing Integers (J) Answers			
Name:	Date:	S	core:
C	Calculate each sum, diffe	erence, product or quotient.	
-20 + 18 =	-2	-194 = -15	
1412 =	26	24 + 12 = 36	
$-168 \div 7 =$	-24	-14 + 7 = -7	
18 - 13 =	5	2 - 20 = -18	
10 - 17 =	-7	$500 \div -25 = -20$	
$25 \times -20 = -$	-500	-814 = 6	
-248 =	-16	2416 = 40	
$-504 \div 24 =$	-21	-115 = 14	
$23 \times 4 =$	92	$-216 \div -9 = 24$	
-25 + -6 =	-31	$-17 \times 12 = -204$	
$7 \times -18 = -$	-126	$234 \div -18 = -13$	
$-18 \times 15 = -$	-270	20 + -12 = 8	
$21 \times 21 =$	441	-21 + -20 = -41	
-13 + 20 =	7	-22 - 5 = -27	
-199 =	-10	19 - 16 = 3	
$24 \times -22 = -$	-528	$209 \div 19 = 11$	
$-425 \div -25 =$	17	$-24 \times 10 = -240$	
-188 =	-10	$8 \times -21 = -168$	
$-198 \div -22 =$	9	21 + -16 = 5	
$384 \div -24 =$	-16	$192 \div -12 = -16$	
$-375 \div -25 =$	15	$14 \times -9 = -126$	
$-368 \div 16 =$	-23	$-24 \times -14 = 336$	
18 + 20 =	38	$-480 \div 24 = -20$	
$-25 \div 25 =$	-1	$-24 \div -1 = 24$	
20 - 2 =	18	$9 \times -21 = -189$	